
,ay;nghj;j Kf;Nfhzpfs; 
 
 
 
 
 
 
 
 
 
cUtpy; jug;gl;Ls;s Kf;Nfhzp ABC ,y; xt;nthU gf;fj;jpd; kPJk; mq;F jug;gl;Ls;s 
Kiwapy; P, Q,R Mfpa Gs;spfs; mike;Js;s NghJ fPNo jug;gl;Ls;sthW tpfpjq;fis 
vOjyhk;. 

(i) AP : PB = 2:3,  AP : AB = 2:5,  PB : AP = 3:2 
(ii) AQ : QC = 1:5,  AQ : AC = 1:6,  QC : AQ = 5:1 
(iii)BR : RC = 3:3 =1:1, BR : BC = 3:6 = 1:2, RC : BR = 3:3 

 

tpfpjj;jpypUe;J gpd;dj;ijAk; vOjKbAnkd;gij ehk; fw;Ws;Nshk;. 

mjw;Nfw;g> AQ : QC = 1:5 vd;gij 
𝐴𝑄

𝑄𝐶
 = 

1

5
 = 0.2 vdTk; vOjyhk;. 

 
14.1 xU Kf;Nfhzpapd; ,uz;L gf;fq;fis vQ;rpa gf;fj;jpw;F rkhe;jukhf tiuAk; xU 
Nfhl;bdhy; gpupj;jy; 
Njhw;wk; 
xU Kf;Nfhzpapy; xU gf;fj;jpw;F rkhe;jukhf tiuAk; Nfhl;bdhy; vQ;rpa ,uz;L gf;fq;fSk; 
tpfpjrkdhfg; gpupgLk;. 
 
 
 
 
 
 
 
 
 
cjhuzk;1 
Kf;Nfhzp PQR ,y; gf;fk; PR ,w;Fr; rkhe;jukhf XY tiuag;gl;Ls;sJ. PX = 4cm, XQ = 2cm, 
YQ = 3cm Mapd; RY apd; ePsj;ijf; fhz;f. 
 
RY ,d; ePsj;ij x vdf; nfhs;Nthk;. 
mg;NghJ PR ,w;Fr; rkhe;jukhf XY tiuag;gl;Ls;sjhy;> 

Njhw;wj;jpd; gb 
𝑅𝑌

𝑌𝑄
 = 

𝑃𝑋

𝑋𝑄
 

mjhtJ 
3

𝑥
 = 

2

4
 

/ 2x = 4 x 3 
/ x = 6 
/ RY ,d; ePsk; 6cm MFk; 
 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

 

ghlk;:  fzpjk; 

juk;: 11 
A.M.F. Nazrin 
Kegalle Zahira Maha Vidyalaya 

thuk;  - 10 



gapw;rp 14.1 
1. fPNo jug;gl;Ls;s xt;nthu; cUtpYk; rpy Neu;Nfhl;Lj; Jz;lq;fspd; ePsq;fs; njupahf; 
fzpaq;fs; %yk; jug;gl;Ls;sd. mj;njupahf; fzpaq;fshy; Fwpf;fg;gLk; ngWkhdq;fisf; 
fhz;f. 
 


